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J1 Laéticia / Cyprien
J2 Loick / Damien
J3 Johan / Axel

1°" Laéticia / Cyprien
2° Loick / Damien
3® Johan / Axel

J1 Antoine / Hugo
J2 Sylvain / Clément
J3 José / Armand

1%" José / Armand
2° Antoine / Hugo
3¢ Sylvain / Clément

J1 Florian / Alexandre
J2 Teddy / Simon

J3 Richard / Fabrice
J4 Maélyne / Marilou

1% Teddy / Simon

2° Florian / Alexandre
3° Richard / Fabrice
4° Maélyne / Marilou

J1 Patrick / Patrick

J2 Thibaut / Allan

J3 Nathan / Justin

J4 Christian / Jean-Yves

1°" Patrick / Patrick

2° Nathan / Justin

3° Thibaut / Allan

4° Christian / Jean-Yves

J1 Patrice / Véronique
J2 Thomas / Emma

J3 Raphaél / Patrick
J4 Sylvain / Grégory

1°" Patrice / Véronique
2° Sylvain / Grégory
3° Thomas / Emma

4° Raphaél / Patrick

J1 Jean-Luc / Olivier
J2 Sébastien / Gérard
J3 Arnaud / Nathan
J4 Michel / Michel

1°" Jean-Luc / Olivier
2° Sébastien / Gérard
3° Michel / Michel
4° Arnaud / Nathan

e |2 1 (2345|112 13
Loick / Damien - Johan / Axel 2|10 |05/06 10
Laéticia / Cyprien - Johan / Axel 2|/0| |04 07 1 0
Laéticia / Cyprien - Loick / Damien 20| |04]|06 1
211|0
e
{2 102|345 00|13
Sylvain / Clément - José / Armand 112]| |06|12|09 0|1
Antoine / Hugo 3 José / Armand 02| |05|08 0 1
Antoine / Hugo - Sylvain / Clément 2/0/| |08/09 10
1|10 2
J11J2 1123|450 (12]|1J3]1J4
Florian / Alexandre - Maélyne / Marilou 2|0\ |05(07 1 0
Teddy / Simon - Richard / Fabrice 211| [05[/06| 10 110
Florian / Alexandre : Richard / Fabrice 210 |09|07 1 0
Teddy / Simon - Maélyne / Marilou 2|0\ |03(06 0
Florian / Alexandre . Teddy / Simon 02| |03(09 0
Richard / Fabrice - Maélyne / Marilou 2|10 08|06 0
2: |13 0]
-
J11J2 1123|4501 (12]|1J3]1J]4
Patrick / Patrick - Christian / Jean-Yves 20| [O7]09 1 0
Thibaut / Allan - Nathan / Justin 12| |05]09 09 0]1
Patrick / Patrick - Nathan / Justin 2|0\ |09(09 1
Thibaut / Allan - Christian / Jean-Yves 211| |05|08 |10 1 0
Patrick / Patrick - Thibaut / Allan 2|1 |06(13|06 110
Nathan / Justin - Christian / Jean-Yves 210| |08|08 1|0
31|20
m Scores Points
J11J2 11234 |5(J1]J2]1J3]|J)4
Patrice / Véronique - Sylvain / Grégory 2 a 10| 05|08 1 0
Thomas / Emma - Raphaél / Patrick 21| |05|08|10 1|0
Patrice / Véronique - Raphaél / Patrick 20| [10 05 1 0
Thomas / Emma - Sylvain / Grégory 112| |10/09|06 0 1
Patrice / Véronique - Thomas / Emma 2|1 |05/11|07 1(0
Raphaél / Patrick - Sylvain / Grégory 02| (0404 01
31|02

=3

Jean-Luc / Olivier - Michel / Michel 20| |03 09 1 0]

Sébastien / Gérard - Arnaud / Nathan 20| (09 10 110

Jean-Luc / Olivier : Arnaud / Nathan 2,10]| (09 09 1 0

Sébastien / Gérard - Michel / Michel 112 |05/11|08 0 1

Jean-Luc / Olivier - Sébastien / Gérard 112| |04 10|08 0|1

Arnaud / Nathan - Michel / Michel 02| |06|05 0|1
2(2(0|2




